



Имя: \_\_\_\_\_

Дата: \_\_\_\_\_ Оценка: \_\_\_\_\_

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{3} =$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{2}{5} =$$

$$\left(\frac{1}{3}\right) - \frac{1}{6} =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^0 + \frac{1}{4} =$$

$$\left(-\frac{1}{2}\right) + \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{2}{5} =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{5}\right) + \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{6}\right) =$$



Имя: \_\_\_\_\_

Дата: \_\_\_\_\_ Оценка: \_\_\_\_\_

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{3}{5}\right) = \frac{19}{25}$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{3} = \frac{128}{375}$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{1}{3}\right) = \frac{145}{192}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{2} = \left(-\frac{7}{16}\right)$$

$$\left(-\frac{1}{6}\right)^2 + \frac{2}{5} = \frac{77}{180}$$

$$\left(\frac{1}{3}\right) - \frac{1}{6} = \frac{1}{6}$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{2}{5}\right) = \frac{77}{180}$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{6}\right) = \frac{1}{3}$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{13}{40}\right)$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{69}{320}\right)$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{5}{36}\right)$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{2} = \left(-\frac{17}{50}\right)$$

$$\left(\frac{3}{4}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(-\frac{1}{2}\right) + \frac{3}{4} = \frac{1}{4}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{2}{5} = \left(-\frac{3}{20}\right)$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{3}\right) = \frac{13}{36}$$

$$\left(-\frac{1}{5}\right) + \frac{1}{6} = \left(-\frac{1}{30}\right)$$

$$\left(-\frac{3}{4}\right)^2 + \frac{3}{5} = \frac{93}{80} = 1\frac{13}{80}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{6}\right) = \frac{79}{150}$$